### **BLUE SKY BRAND COMPANY (PTY) LTD**

27 Bright Street

Somerset West

VAT Reg No: 4810259673 ,Co Reg No: 2011/008513/07 , Liquor Reg: RG0003999

Company	<b>Contact Details</b>
---------	------------------------

Sales CPT:

021 201 1049

Email:

Orders@blueskybrands.co.za

**Customer Details:** 

Vendor Code: 104680 11685 Tops Golden Gate

30 Days

Tax In	Tax Invoice					
Date	10/09/2024					
Document No:	INV00261517					
Pag	ge 1 of 1					

Deliver To: 11685 Tops Golden Gate

65 Wicks Street Verulam

Account	Your PO Number	Tax Reference	Sales Code
TK0145	4327	4180270524	TEL1

Item Code	<u>Store</u>	Item Description	Quantity	Price (Ex) Disc %	Total (Excl)	<u>Tax</u>	Total (Incl)
25200	KZN	Honor VSOP Limited Release 1 x 750ml	6.00	665.18	3,991.08	598.66	4,589.74
14040	KZN	Fireball Salted Caramel	3.00	184.75	554.25	83.14	637.39
37101	KZN	Royal Flush Gin	12.00	243.88	2,926.56	438.98	3,365.54
39001	KZN	Vjctoria Pink Gin	1.00	258.66	258.66	38.80	297.46
45001	KZN	Billiato	12.00	258.66	3,103.92	465.59	3,569.51

Liquor Runners Durban Signed:

not ordered by Leren Shoomongol 0605795671

#### PLEASE NOTE THAT SETTLEMENT DISCOUNT IS ALREADY CALCULATED ON INVOICE

Payment is due strictly according to your paymentt terms with Blue Sky Brand Company (Pty) Ltd.

Please keep this invoice to return any merchandise within 60 days.

Goods must be returned in a saleable condition.

Ownership is not transferred until amount due is paid.

SubTotal 10,834.47 Discount @ 0 % 0.00 Total (Excl) 10,834.47 1,625.17 NET Total ZAR (Incl) 12,459.64

#### PLEASE USE YOUR ACCOUNT NUMBER AS THE REFERENCE WHEN MAKING PAYMENT

Received in good order

Signed

Print Name

**Banking Details** 

BLUE SKY BRAND COMPANY (PTY) LTD

FNB (First National Bank)

63050361583 Account Number:

Branch Code:

250655



## **BLUE SKY BRAND COMPANY (PTY) LTD**

27 Bright Street

Somerset West

130

VAT Reg No: 4810259673 ,Co Reg No:2011/008513/07 , Liquor Reg: RG0003999

Cam	nanı/	Contact	Detaile
Com	panv.	Contact	vetaiis

Sales CPT:

021 201 1049

Email:

Orders@blueskybrands.co.za

**Customer Details:** 

Vendor Code: 104680 11685 Tops Golden Gate

30 Days

ו	Tax Invoice
Date	10/09/2024
Document No:	INV00261517

Deliver To: 11685 Tops Golden Gate

65 Wicks Street Verulam

_ <del>_</del>	<u> </u>			
Account	Your PO Number	Tax Reference	Sales Code	
TK0145	4327	4180270524	TEL1	

Item Code	Store	Item Description	Quantity	Price (Ex) Disc %	Total (Excl)	<u>Tax</u>	Total (Incl)
25200	KZN	Honor VSOP Limited Release 1 x 750ml	6.00	665.18	3,991.08	598.66	4,589.74
14040	KZN	Fireball Salted Caramel	3.00	184.75	554.25	83.14	637.39
37101	KZN	Royal Flush Gin	12.00	243.88	2,926.56	438.98	3,365.54
39001	KZN	Victoria Pink Gin	1.00	258.66	258.66	38.80	297.46
45001	KZN	Billiato	12.00	258.66	3,103.92	465.59	3,569.51

#### PLEASE NOTE THAT SETTLEMENT DISCOUNT IS ALREADY CALCULATED ON INVOICE

Payment is due strictly according to your paymentt terms with Blue Sky Brand Company (Pty) Ltd.

Please keep this invoice to return any merchandise within 60 days.

Goods must be returned in a saleable condition.

Ownership is not transferred until amount due is paid.

NET Total ZAR (Incl)	)	12,459.64
Tax		1,625.17
Total (Excl)		10,834.47
Discount @	0 %	0.00
SubTotal		10,834.47

PLEASE USE YOUR ACCOUNT NUMBER AS THE REFERENCE WHEN MAKING PAYMENT

Received in good order

Signed Date

Print Name

Banking Details

BLUE SKY BRAND COMPANY (PTY) LTD

FNB (First National Bank)

Account Number:

63050361583

Branch Code:

250655

## **BLUE SKY BRAND COMPANY (PTY) LTD**

27 Bright Street

Somerset West

7130

VAT Reg No: 4810259673

,Co Reg No: 2011/008513/07 , Liquor Reg: RG0003999

**Company Contact Details** 

Sales CPT:

021 201 1049

Email:

Orders@blueskybrands.co.za

**Customer Details:** 

Vendor Code: 104680 11685 Tops Golden Gate

30 Days

Deliver To: 11685 Tops Golden Gate

65 Wicks Street

KZN

Account	Your PO Number	Tax Reference	Sales Code
Account TK0145	CR14386/ INV00261517	4810259673	TEL1
110143		/	

Item Code	Store	Item Description	Quantity	Price (Ex)	Disc %	Total (Excl)	<u>Tax</u>	Total (Incl)
	KZN	Honor VSOP Limited Release 1:	6.00	665.18		3,991.08	598.66	4,589.74
25200 14040	KZN	Fireball Salted Caramel	3.00	184.75		554.25	83.14	637.39
37101	KZN	Royal Flush Gin	12.00	243.88		2,926.56	438.98	3,365.54
39001	KZN	Victoria Pink Gin	1.00	258.66		258.66	38.80	297.46
45001	KZN	Billiato	12.00	258.66		3,103.92	465.59	3,569.51
STORE	RETURN	I						

#### PLEASE NOTE THAT SETTLEMENT DISCOUNT IS ALREADY CALCULATED ON INVOICE

Payment is due strictly according to your payment terms with Blue Sky Brand Company (Pty) Ltd.

Please keep this invoice to return any merchandise within 60 days.

Goods must be returned in a saleable condition.

Ownership is not transferred until amount due is paid.

 Total (Excl)
 10,834.47

 Discount @
 0 %
 0.00

 SubTotal
 10,834.47

 Tax
 1,625.17

 Total (Incl)
 12,459.64

#### PLEASE USE YOUR ACCOUNT NUMBER AS THE REFERENCE WHEN MAKING PAYMENT

Received in good order

Signed \_\_\_\_\_ Date \_\_\_\_\_

Print Name

Banking Details

BLUE SKY BRAND COMPANY (PTY) LTD

FNB (First National Bank)

Account Number: Branch Code: 63050361583 250655

\_\_\_\_

# LIQUOR RUNNERS

#### Durban

#### GOODS RECEIPT / ISSUE

No

48748

Eagle Stationers 031 3354000

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

	•			e Magi		ers or warenouse
LUDE TRANSPORT		<u> </u>	H NAM	FILIVAL	<u> </u>	
	ATION CO. (If delivered by	Hire Vehicle)		·		
LOAD SHEET No:	9	591	VEHICLI	E REG No:	ESR S	312 Fc
CUSTOMER				DATE REC	-0.455	
			L.		13	3/09/24
		DECE				UPLIFTNOTE
DESC	CRIPTION	RECEI Cases	VED Units	Cases Received Damaged	Units Received	REMARKS INV. NO.
1) ROYAL FI	ush Organiax			Dumagea	Damaged	F-
2) Billato	Jan Signatura	1.7				1050
3) House Selen	rt Region	-	3			1000
4) Fige ball c	Cecmel		<u> </u>		5	<u> </u>
5) HONOR VS	OR	† <del>,                                     </del>	<u> </u>			
6)		<del>  '-  </del>		\		
7) Victoria G	in B. N.		i	1		
8)		<del>   </del>	<u></u>	<del>                                     </del>		
9)				<del> </del>		
10)					·	
11)			<del>- · ,</del>		<del></del>	
12)			· <u> </u>			
13)					<del> </del>	
14)						
15)				· ·		
16)						
.7)						<u> </u>
8)						
9)						
0)						
PALET CONTROL: GKN	V 4 BLUE #1					
OTH	IER		·			
	TOTAL					
OTE: ON G.R.V. SHO	W ONLY STOCK WHICH	HAS PHYSI	CALLY BE	EN RECEIVE		
CHECKED ON RECE	IPT BY: Sous 15	<u>Jo</u>	DRI	IVER:	for a fa	
TIME COMPLETED:			PAC	ΣE.		PAGE



Clairwood Logistics Park Basil February Road Mobeni East 4060

Selwyn@lrsa.co.za

Liquor Runner Clairwood Clairwood

Http://www.lrsa.co.za

**REQUEST FOR CREDIT - CR14386** 

2024-09-13 21:15:10

LOAD SHEET Reference - LSID 891, DATE Delivered - 2024-09-13

Reg. No.

**Truck Description** 

**Load Capacity** 

Not Ordered / Duplicated

**Driver Name** 

Dispatcher

Checker

FSR812FS

CANTER FE7-136 TD F 4

N.M. SHEZI

**Customer Name: TOPS AT SPAR GOLDEN GATE** 

**Brief Description of Credit:** 

**Reason for Credit:** 

Principal Customer Code: TK0145

Doc. Date: 2024-09-10 Doc. Ref: INV00261517 GRV:

Credit Type: Credit

Invoice Amt: R 12459,6

Stock Code	Stock Description	Unit	Packsize	Reason Code	Reason	Batch	QTY	
BS45001	Billiato	EA	750ml	WZ	Not Ordered / Dupt		12	
BS14040	Fireball Salted Caramel	EA		W2	Not Ordered / Dupl		3	
BS25200	Honor VSOP Limited Release 1 x 750ml	EA		W2	Not Ordered / Dupl		6	
BS37101	Royal Flush Gin	EA	750mì	W2	Not Ordered / Dupl		12	
BS39001	Victoria Pink Gin	EA	750ml	¥/2	Not Ordered / Dupl		1	
Total Number o	of Items to be credited on Decument Ref: IN	V00261517	7 (5 Product Ty	pe)			34	

## LIQUOR RUNNERS

#### **Durban**

STOCK RETURN / REQUEST FOR CREDIT Nº !

1561

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

			DRIVE	R NAME	14190	102	<del> </del>		
HIRE TRANSPOR	TATION CO	). (If delivered by H	lire Vehicle)						
LOAD SHEET No: 291			VEHICLE REG No: FSR 812 FS				12 FS		
CUSTOMER				DATE RECEIVED 13 109 124			3/09/24		
							UPLIFTNOTE		
DESCRIPTION		RECE Cases	IVED Units	Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.			
1) F(1) IN	var ce	BETULBER	TON 1	orde.	ed :	7	INV 00261517		
_		RETURNED		orde	,		INV02261063		
3)									
4)				•	•				
5)									
6)	•								
7)				·					
8)									
9)									
10)									
11)									
12)									
13)									
14)							·		
15)									
16)									
17)									
18)					-				
19)							<u> </u>		
20)									
PALET CONTROL: 0	GKN	BLUE #1		=					
(	OTHER								
NOTE: ON G.R.V. S	HOW ONL	TOTAL	HAS PHY	SICALLY BE	EN RECEIV	/ED			
CHECKED ON RECEIPT BY: So DRIVER:									
TIME COMPLETE	:D:			PA	.GE;		PAGE;		